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1  Evie 2  Anna 3  Tom 4  Megan 5  Kamal 6  Scott

1  Kamal 2  Scott 3  Megan 4  Rachel 5  Anna 6  Tom 7  Evie

POLICE  

AND CRIME

FAMILY  

LIFE

PEOPLE

nanny

coupledrugs

suspect

inspector

fault buggy

detective

therapist

ex-wife

sergeant

ex-husband

witnessviolence pregnant

motive

evidence

1  has been found 2  went missing 3  was discovered

4  ’re waiting 5  to be 6  is believed

7  was buried 8  was uncovered (or has been uncovered)

Model answers:

Think  

about . . .
Rachel Anna Megan

Where she 

lives

Rachel lives in Ashbury, 

but she used to live  

on Blenheim Road  

with Tom.

She lives on Blenheim 

Road with Tom.

She lives on Blenheim 

Road with Scott.

Relationship 

with Tom 

She used to be married 

to Tom. He was violent 

to her, but she believed it 

was her fault. He cheated 

on her with Anna.

She had an affair with 

Tom and then they got 

married and had a baby. 

He cheated on her  

with Megan.

She had an affair  

with Tom.  

He was violent to her.

As a mother

She really wanted a 

baby, but she couldn’t get 

pregnant. She paid for 

specialist treatment,  

but it never happened.

She has a young 

daughter. 

She had a baby girl,  

but she died. She believes 

it was her fault.  

She doesn’t want  

another baby, but she  

gets pregnant.

4



page 2

LEVELWORKSHEET ANSWER KEY

Penguin        Readers

C
o
p

y
ri

g
h

t 
©

 L
a

d
y

b
ir

d
 B

o
o
k

s 
L

td
, 

2
0

2
1

5

6

7

8

9

Model answers: 

1 The truth is that Megan is going to meet Tom in a hotel room.

2 The truth is that Rachel lost her job there three months ago.

3 The truth is that Rachel never met Megan. She only saw her from the train. 

4 The truth is that Kamal was never in trouble with the police for being violent.  

 The news report was wrong.

5 The truth is that it was Tom who was angry. He made the hole in the wall with the golf  club. 

6 The truth is that it wasn’t Anna who got in Tom’s car that night. It was Megan.

7 The truth is that it’s not a good place to come because it’s quiet and Tom is dangerous. 

8 The truth is that Anna pushed the corkscrew further in, as hard as she could, pushing and turning it.

Model answers:

What happened? Tom Watson was killed by his ex-wife, Rachel Watson. Rachel was  

  protecting herself. He attacked her with the corkscrew. He was going to  

  kill her. She had no choice. His wife, Anna Watson, tried to save him,  

  but she couldn’t.

Where did it happen? At Tom Watson’s house: 23 Blenheim Road.

When did it happen? Sunday, 18 August 2013

Who reported the body? His wife, Anna Watson.

How did he die?  A corkscrew was pushed into his neck.

Reader’s own answer.

Reader’s own answer.

Reader’s own answer.


